rrese  CElASIEEY »P.740 €EELED »P.740 343

% T A VE o =T =3 RoHS
XEEIUH EYR e Bl 102 (| 2DJIAS O
Panasonicit EX-10 S U—X | MenmFit UM YU—Z.UM2 YU—X |

NEIDKBLEVYERDMIFDHDT STy T,

E1-SXs«15 YYINTU—h

G WE:t1.5 B : mm
t*’ » 16
HE fHEsR
_ . EHEFAER 115 11 M2
AR SUS304 | TNE R (SUSXMT)M2x 4---27K
3 FAE R (SUSXM7) M2 X 627
} s o o
# : . |EE SUS304 I |-
(g) mE & () || B f o o
L 25 39 | 6 | FSE1SX025-S | 520 < .
q 1 30 | 44 | 7 | FSE1SX030-S | 520 2
y) .“JJ U <
(L 7,
3.4 ‘
A KERE TOER (BEE) _.E._!
E1-LX51>
. BT mm
J @34
fo AN HE GLE T =
= L HBAE X T F .
L 2EEb A 5 KE X (SUSKMT) M2 42 HEIRN ol A
s FAE 2 (SUSXM7)M2 X 6---27 i )
\ A . |EE SUS304
[ | (&) &' |@a@
25 33 | 8 | FSE1LX025-S | 650

30 38 9 | FSE1LX030-S | 650

t1.5

AR TOER (8EE)

E1-SYs+7

B mm
- { . ti1.5
.f '\ (\ RE :t1.5
HE TES L
S T oHEfHEE R : T —d
iy SUS304 | TNE 2 (SUSXMT)M2x 4-+-2K 10, s
” FAE Z (SUSXM7)M2 X 627 o |
= am2 | 11 |55
A L |EB SUS304 22 \ 3
(6)] =& [@mA | | %
™ 15 | 35 | 6 | FSEISY0I5-S | 630 N ’t i B
3 20 40 | 6 | FSE1SY020S | 630 | = il L R T
25 45 7 | FSE1SY025-S | 630 . (@) f-—+
30 50 | 7 | FSE1SY030-S | 630 &)
! 4
A HlhE TOER (S ) & 4
KEX-1412 ZEAOBE T HEA—05L Y 1, ‘

iwarta



